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Hauseingang

Chriesimatt 4
v
B = —1 ]

. c

@ 2

o

= k3

Zimmer 1 Bad M o
20.0 m? 7.4 m?2

\\:r::/
Zimmer 2
j 14.2 m?2
Entree Treppenhaus 42

PO

41 m

(]

—

Q 38.2 m?2

KUche/Wohnen/Essen

1]

KUche/Wohnen/Essen/Entree

37.8 m?

[
' Sonnenstore |
|
| Sitzplatz
| 19.2 m?2
|
|
|
!
L = 1=
777777777777 -. 4 4
3.5-Zimmer-Wohnung 2.5-Zimmer-Wohnung
BWFL 94.4 m? BWFL 64.2 m?
N Tm 5m

2.5m

L]

Zimmer 1
14.3 m?

—

Rusche
4.7\m?

—F3-160

0 0
0 0

;
;

Sitzplatz
19.3 m?

LSonnenstore




	wohnung 4.1 + 4.2 Erdgeschoss

